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This resource has been produced to support teaching and learning of

GCSE (9-1) OCR Business 1. It is made up of a variety of end-of-topic test
time-restricted questions, with suggested answers and a marking scheme.
Each topic test will cover the same level of skills and depth of knowledge as
the most difficult and longest questions in an actual GCSE examination.
This resource also provides a suggested answer structure and examination
tips, and highlights common errors made by students.

Teacher’s Introduction

Always check the exam board
website for new information,
including changes to the
specification and sample
assessment material.

Each test will:

Reduce your workload as a teacher with on-hand topic tests and answers accompanied by suggested

answer outlines

Allow you as a teacher to diagnose students’ knowledge, strengths and weaknesses after a specification topic
has been taught

Help students develop good examination technique, as it uses exam-style command words that will be used
in the actual examination

Encourage students to develop structured answers to meet the assessment objectives examined, as it
allocates marks appropriate to the assessment objective

Indicate how and why marks are awarded at each level of the higher-level questions

Raise students’ awareness of the examination’s ‘limited time’ aspect

This resource can be used as:

A very useful student revision guide, as all topics in the specification are addressed

A formal class test of 40—60 minutes duration

A multiple homework resource for students

An examination revision guide for students

A basis for an interactive teacher—student class review of a specification topic and how to approach
answering an examination question on it in a structured way

The Examination Question Guidance section focus on 10 specific areas:

Assessment objectives

Command words

Higher-level marking table for ‘Discuss’ and ‘Evaluate’ questions

Examples of the questions you will get — with answers and marking schemes
How each examination topic test question is structured

Tips for answering a question

Common mistakes made when answering a question

Important note on suggested answers

Feedback sheet

Teacher’s revision tick sheet

Important note on suggested content for answers
Please note that there may be correct answers other than those provided. Consequently, it is up to the
teacher/examiner to decide whether any alternative answers given are worthy of credit.

November 2024
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Examination Question Guidar

e

Assessment objectives

S

. %Méﬁ%

What they mean /
A A . . . p

An assessment objective (AO) is a target that the examiner ex»ects the candidate P

rF 4 F.

s
=

the content and quality of their answer: o 0 .
9 {wg ' j e m———,
T - v
Analyse (AO3a\}'¢ $ f??}.;o possible consequence of a point St
the corzoi nca Jepends on. [
.aardate (AO3b): consider the pros/cons of any point you ma| / %
1. . . . . |
justified final conclusion or recommendation based on your . 4 ///
circumstances on which it depends. g
- - ////////////////////////////é
AO2 Apply (AO2) your knowledge and understanding to the speci | i
- s . . . - . - . s
Application that the question is examining and the stimulus material isp. ////,///
AO1 Simply show knowledge (AO1a) in your answer, e.g. the corra | ;%
Knowledge and question; or, for the higher-level skill questions, show your b, /////////
Understanding understanding (AO1b) of a specific business context, i.e. bring mm%
concepts into your answer, say, by way of an example. /
You should think of AOs as building blocks for the structure of your answer, linket ///,,,/
common cement of the stimulus material and linking words and phrases: f é
| |
Finish with AO3 A”a'ys‘fﬁ; . L )
) \ 4
| ﬁtﬁ;éaw _ 4
s e
- S
. . i
Application W////
o Knowledge and
Start with the base block of AO1 Eee
Understanding
Level of skill demanded
The increasing skill level required to satisfy each assessment objective:
AO1 AO2
, e COPYRIGHT
Knowledge and Understanding Application .

PROTECTED

Low level skill

g

o
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Command words

Meaning / AO level / mark awarded
The command word indicates the assessment objective level that is being examit

the question.

AQOs and command words: |
‘A01 AQ2 AO:B - a 5 >
Explain Calculate Anzlven o G
Identify Complete ../« 5ﬁ3m‘énd
. T ol
State Explain <) “DIscuss
_“';M,s& ~ | Evaluate
Multiple-d uestions —
various wo, d phrases

Suggested outline for a structured answer response

Command word Answer structure
MCQs e Can examine AO1a (1 mark), AO1b (1 mark) or AO2 {1
(1 mark) e  Simply select one answer from the choice of A, B, Cor |
State e Examines AOla (1 mark).
(1 mark) e Correctly state what the question asks with one or two |
short sentence, for each statement you make.
Identify e Examines AOla/b (1 mark).
(1 mark) e Correctly identify what the question asks.
e One word, or a very short sentence should suffice for &
Complete e Examines AO1a/AO2 (2 mariu’. » ,«
(2 marks) e Correctly fill in all =, ‘si_igi;;wfi’w“ords/phrases/ﬂgures |
o Examinf;jj; Al {f{;;ssafk)‘\'énd AO1b (1 mark).
Explain .. fgj “’%\;ﬁapﬁ‘ropri?tely correct point. Then de:rvelop ity
(Non-conj o Lo - (slanation. You might use an example to clarify your &
(2 may . v Noreference to the ‘Text’ is needed.
e Write at least two well-developed, structured and linke
you make.
e Examines AOla (1 mark) and AO2 (1mark).
Explain ® Mal<e one appropriately corr'ect point refere;ncing the ||
(Contextual) linked 'and relevant expilanation clearly applied to the ©
(2 marks) to clarify your explanation.
e Correct and appropriate reference to the ‘Text’ must be
e  Write at least two well-developed, structured and linke
you make.
e Examines AO1a/A02 (2/3 marks).
Calculate e  Show formula if required. &
(2/3 marks) e Correctly calculate the aﬂsw§r “:}w how all your workin
e Own figure rule applies v ‘Ewﬂf T
o Clearly identifi sy _narahswer.
e Exarr f‘S‘?\ﬁz. 479 (1 mark), AO2 (1 mark) and AO3a (11
3 g “riohstrate knowledge/understanding by making
\ " answers the guestion. You might use an example to
Anal T o Apply that knowledg'e/gﬂderstasilding with direct re.
3 mark;) correctly contextualise it. You might use an exampi
o Give the consequence of your applied point. Again,
to clarify.
e  Write at least three well-developed and linked sentenc:
o A fully justified and contextual ‘final judgement’ is NO7©
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Command word Answer structure
® Examines AO3b (3 marks)
o Make your recommendation.
Recommend o Pgsitiveiyjustify it Withi!’l cont'ext... po§si.bly giving o
(3 marks) o lee.a co;'!tgxtual negative point explaining why th.
possibly giving an example.

e Write at least three well-de::. 'c - ac iand linked sentenct
® Only one fully justifi d_fﬁr% _=.iteéxtual ‘recommendatiol

Discuss See: Higher-lev:ir i ?.;&tatﬂﬁé}—- ‘Discuss/Evaluate’.
(7/9 marks) Note = fully justified and contextual ‘final judgement’ s

Evaluate Sy gl’xef‘-» evel marking table — ‘Discuss/Evaluate’.

(7/9 m ,;.Q'Ufé that a fully justified and contextual ‘final judgement’ |

Important points to note about an answer structure

Note 1

e  First, carefully read the question and make sure you know what you are bei:
command word to remind you of your answer structure.

e  Next, carefully read the Text (case study) and underline relevant business wt
These can be referenced in your answer,

e  Then, read the Text (case study) again. Highlight information relevant to the
in, and that adds value and depth to, your answer.

e  Next, plan your answer structure.

e  Finally, write your answer.

Note 2 i
e Read each question very carefully to make sum;’gﬂ - 9u nswer only what vt

think you are being asked.
e Also, reading the question caraef.’v ﬁ(‘yg Jensure that you structure your an

itscommandword. .= 0

@ Discuss’ and ‘Evaluate’ questions, worth 7 or 9 marks.

e  You must always clearly make direct reference to the case study at least fou:
maximum marks. Questions worth 9 marks require all five skill areas (AOla,
be addressed.

Note 4
e | would, whenever relevant, give an example to clarify a point made in my an

Note 5
e A question with the command word ‘Examine’, ‘Analyse’, ‘Recommend’, ‘Disc
clear and logical flow of connecting, or linking, sentences.
o To achieve this, use words and phrases such as alternatix aly; because; conse.
which / this will lead to; which / this will result in ; "@r‘\c,,ﬁsion; and my final |
- | S

i
s
i

Note 6 WA S

e
* Aquestion with the core {‘:_ﬁwﬂ”IDiSCUSS' or ‘Evaluate’ needs a fully conti
o For examzg ;

o Contextually link another relevant point: Consequently...

Topic Tests for GCSE (9~1) OCR Business — Business 1 Page 4 of 76
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Higher-level marking table — for ‘Discuss’ and ‘Evaluate’ questions

Level AOla AO1b AO2 A
9 marks 1 mark 1 mark 2 marks 2n
7 marks - - 2 marks 2n

Make two correct Analyse
points 2= ipply the two |
{t;}" n“‘j jf‘leﬁiText’. you appli
- i the Tex
Strong W iﬁ; 3 APP x 1 mark
) ¥ A APP x 1 mark AN x |
- AN x 1
Understanding
demonstrated
when required. | when required.
Good Kx 1 mark U x 1 mark
Make one weak Limited
point of of that ¢
Weak application.
AN x |
APP x 1 mark
|
Note: ‘R

yj i

by

) :
e  Any point made must be fully developed, el ﬁf},wﬁcf contextual. It may be |

and relevant example. L P 1)
e [f any question is not a{’j e géwf;\,; wrongly answered, or the answer is totall,

are awarded.

Y 3
rkiind 9-ma
, application, analysis and evaluation.

e

ey

rk question your answer must demonstrate all fiv
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Example test: Questions

Section A e

i
1.  Abusiness planis: %W
U A Aformal document that can never be changed.cace it is compiled ////
[J B Afinancial statement showing a businas s ofi or loss for a trading o

d € Adocument against which futuze by ﬁ‘fJ perations can be judget!

i
i
i

gl

g

W////W

=
e

..... . W ) N (W
QD Alegal requirement of . ! br 5 ncss irrespective of its size or strucki St
2 a8 J P

e @ ]

. - % % %

. S | | (I

2. Abusinesggan e 1wy aifferent forms of legal structure, from a sole trac: : ///;///// ’
" . . . . P

What \bLsiness entity can sell its shares to the general public? / )
..... 2% o | | |
QA & limited company AN |
d B Private limited company ) o
///////////////////////////é

d € Partnership e
d D Soletrader 77N

3. The basic marketing mix has four elements. What element is concerned with s

used by a business? Wy
b A Product /
,/////////// s

S
L1 B Promotion AR

U C  Price P
QD Place f 3
é |
\J
4. Alarge multinational conglomerate is worried about the quality of its busine 77N
of business communication is particularly important £ fmultinational cony g /;g
U A ltonly needsto be communicated,in”(,;' Al | f . Nt
U B It has premises spread thror:g ' thuwvorld and it’s essential that t —_—
N 8 | |
with each other and .ic o\ *heir stakeholders (¥
. P‘ w ) 2 S i . - - /
Lc Itis Iegaliy ta weeffective comnlwunlcatlons o ; //////////
U D ee@-h . .. itsrate of staff turnover if bad communications werg
prations
5.  Which of the following types of training is specifically for a business’s new en
(d A Induction training
(1 B  On-the-job training
€ Off-the-job training
(d D In-house training
/
e ¢
oY
».v“"'; -
"ol \ L & A
s ) Eg

o

 Education
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Section B

Text 2: Giovanni’s Pizzeria
Giovanni De Luca opened a pizzeria in the central business district of Oxford city,
Since then, his customer base has grown steadily, as has his reputation for good ¢
‘students’ staple diet’, coupled with Giovanni’s entreprer.: ., %3 and cooking skills
years later he opened another, smaller pizzeria ir i 5‘1}; Zentre of Cambridge, &
At present, Giovanni employs ~9 - %;‘g;&ﬁeﬁenced staff and four more on zei
employees of Giovanni.s ¢ " jg;'rdﬁftion training, and existing employees must
bU. = . awing from a selected experienced long-serving employe
v ?tl’fﬁizzerias, In his Oxford pizzeria only, Giovanni offers a hor
midnight MoWday to Saturday and to 20pm on Sundays.

Last year he made £100,000 worth of sales, incurring a cost of sales totalling £40,
expenses of £10,000. Although he is happy with his profits to date, Giovanniis th
He is considering two options: As paper flyers printed by a printing company in €
radio station.

Giovanni is a very hard and conscientious worker and expects everyone associate
same. However, this is at the expense of not having as much time as he would liki
in total control of all aspects of his business and so he has always operated as a st
25 years of work tends to take its toll, so now he is thinking about taking it easier
and participating junior business partner.

|
1. ldentify one factor that can impact on the succaput b. siness.
\ {‘” : e

\;nnv"j h
2. State one primary market reses 01 1 £
AL W
. ‘;“‘ﬁ;“"’,.ﬁw"”‘ . .
3. ldentify tees el 10 t.1¢ marketing mix.

o

4. State tracteristics that Giovanni must have to become an entreprene

5. ldentify two possible advantages to a business of segmenting its target mary

6. State two possible objectives of Giovanni’s second pizzeria in Cambridge du|
its opening.

7. Explain one reason why a business like a pizzeria would offer zero-hours con|
delivery drivers.

8. Analyse one advantage to Giovanni’s pizzerias of the location in which they ¢

|
9. Recommend whether using flyers or regional rad’z.» ui be the most effect]

Giovanni. Give reasons for your answer. . ,»*““”ﬁ* il
- e s -
10. Explain three pricing met!u xﬁ"fb i Siovanni might use in his Cambridge piz2¢
2 A 4
11. Discus \re _}“;e;-{itc*é to Text 1, whether or not Giovanni should consider 1
inthet /

12. Evaluate, with reference to Text 1, whether insisting that existing employee:.
training benefits Giovanni’s pizzerias.

Topic Tests for GCSE (9-1) OCR Business — Business 1 Page 7 of 76
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Example test: Answers and mark schemes

Section A
Question | Answer Mark
1. C (1
2. A (1] |
3. D [1] e\ &'
4. B [1] f:jyj -
5. A [1] e | |
M{ wa w
Section B
Key: K
u
AP = Application
AN = Analysis
E = Evaluation
1.  The actions of its owner. ¥ (K =1 mark)
2. Interview. ¥ (K =1 mark)
3. Product. ¥ {K =1 mark)
Price. ¥ (K = 1 mark)
4. Be a risk-taker. ¥ (K =1 mark) y
Be creative. ¥ (K = 1 mark) e g’“j :
= s
5. It helps the business to orcozise a v e effective marketing campaign. ¥ (L
A ,m%a?ucts and/or services suited to a specific wi
" A
6. To sum'\?w?v; the face of existing competition. v (U = 1 mark)
To at least break even in revenue and cost terms. ¥ (U = 1 mark)
7. The frequency of home delivery orders is difficult to estimate ¥ (K = 1 mark
employ drivers only as and when they are needed, thereby saving the pizze
v (U =1 mark)
(Note that there is no need to reference ‘Text 1’ so there are no marks for api
That is:
e Make a point for 1 mark. sl
e  Expand on that point for 1 mark. — 4 ) f
’) ?‘\J; Y
o S
8. Both of Giovanni’s pizzerios ype a ¢ i university city centre v’ (K =1 mai

get extensive foot(a /i st :;mgf‘“fr’rzm locals but also from the student popuic

=
4 G

pizzeric

increaf »’.:’k\_}‘go%)zit"so'!f a high volume of sales and therefore profits for b

N = 1 mark) ‘

That is:

e  Make a correct point demonstrating knowledge for 1 mark.
e  Applyitto ‘Text 1’; that is, contextualise it for 1 mark.

e  Give a contextual analysis of the point made —that is, a consequence — |

Topic Tests for GCSE (9-1) OCR Business — Business 1 Page 8 of 76
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9.  Giovanni should chose to advertise using the As paper flyer v' (E = 1 mark]
his potential customers only. Regional radio would target too wide an audi
directly handed to local passers-by. ¥ (E =1 mark) Also, using paper flyers s

i
cheaper option than regional radio, but it would also improve Giovanni’s by ///
W

local printer and so his sales might increase. ¥ (E = 1 mark)

i
i

)

- i

g

That is:

) ) x {w; jw ///////////////2////////////%
e  Make a clear recommendation fes o @i L ] /%
ape . 31 1 B . .. . gt
e  Contextually positiveh: “usd ;Mj recommendation by giving a valid re. g
» W i b |
than the altern =i :f;mﬁark, e

e Gg#llbon - | ..negative point explaining why the alternative is unsuit g

% TN W

2
i

w

p—
\\\\\\\\\\\\\\\

10. In his Cambridge pizzeria, Giovanni might use: .
5 e . . s s . W//////////////////////////Z
1.  Promotional pricing — that is, selling his pizzas at a low price but only ¢ .

o

flyers he is thinking of using. Such a dual approach is likely to increase
=1 mark) 4

7////////////////7'
2. Cowmpetitive pricing — that is, selling his pizzas at the same price as d¢ //

competitors. ¥ (K =1 mark) By doing this he will know the price that B

—especially in the early life of his smaller pizzeria. It could be complen

i
.

sy
Pt

S

Giovanni’s Cambridge pizzeria operates in a crowded market; therefor

////////%

i

g

prices to consider. ¥ (AP = 1 mark)

F

i
i

3. Penetration pricing — that is, selling his pizzas at a lower price than the Pant
order to attract customers and then graduo!ls = v ase prices over time L | ) |
- . %//////////////

relatively acceptable to competitors ¢ 4. omotional gimmick — whe

WW

Y ! /| e i g«w ;" : g kp ¥ ' N ;- é %
is not sustainable in tl/;e G i w&d L) _wworidge market in which his pizzer W
R g

A An —

S0 contextualisation; that is, reference ‘Text 1’ so thai T

That is:
e  Make a correct point for 1 mark (x 3).
e  Expand on that point, with application to ‘Text 1, for a further 1 mark (»

11. On the positive side, it would lighten Giovanni’s workload ¥" (AP = 1 mark) ¢
would allow him more free time to spend with his family. ¥ (AN = 1 mark}

On the other hand, Giovanni likes to be in total control of all aspects of his COPYRIGHT
However, by taking on an active partner he would be relinquishing some af PROTECTED

likely to cause Giovanni concern. ¥ (AN = 1 mark) ’
Fa\ &)

i

Jurtner is a good idea that ¢

i

Finally, in conclusion, | think that takiy« ov ()

mark) as it will allow him w e & e { b ' inie to be with his family. ¥ (E=1ni

71 ¢ 5 iQ
the senior experiensia b uoin the partnership and would therefore hay 9
. . 1
busine sio . € =1mark) . Qg

 Education

Thatis: +

o  Make two correct contextual points for application to Giovanni for 2 m
e  Analyse both points for 2 marks.

e  Come to one single and fully justified conclusion for 3 marks.

]

o

Topic Tests for GCSE (9-1) OCR Business — Business 1 Page 9 of 76



12. In-house training is on-the-job training. ¥ (K= 1 mark) This means that a
pizzerias will get the necessary training from an experienced selected empl

they work. ¥ (U =1 mark) —
S

7/

A benefit to any of Giovanni’s pizzevias of offering in-house training to en ////////M
the business as much money to the same extent as 27 he—job training wo % / /
employee will still be working, under the gu i Ze | ~ﬂ;,dw{’}e><,19z’,w'emceo( memit W
pizzeria money. ¥ (AN =1 mark) . ~ w“‘ = %/////2
A drawbagl to int :’i‘?écmmm"s pizzerias offering in-house training to em i ///Z i
experi QI “”.:!/\L;Naf been with the pizzeria a while and therefore knows al Z/ //%
withou\g# iromisimg quality or quantity of work. ¥' (AP = 1 mark) Such N/
practice’ but nevertheless are still ‘taught’ and passed on to the trainee. v WW/%
Overall, | think that Giovanni should continue to insist that existing emploe ﬂ
training ¥ (E =1 mark) as it has obviously proved cost-effective over the nu %// ) //%
v (E =1 mark) Also, Giovanni has a low rate of staff turnover so, on the wi WZZ///%
to be happy with the situation. So in this case, Giovanni would be wise to ¢ /

broke, don’t fix it’. ¥ (E =1 mark)
N\

That is: % /é
e  Demonstrate knowledge of the business term (in-house training) in the | v 4
. . g,
e  Demonstrate contextual understanding of that busiress term for 1 mark // %
. . . . . . i | |
e  Make two correct contextual points for ann"f 1.0 Giovanni's pizzeri: é ///
. 95 g
e  Analyse both points for 2 marks. € .
e  Come to one single and fu!' o't st 3w contextual conclusion for 3 mark: w
e s
L . #
: e "y,
e ’

e
e

e
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How each examination topic test question is structured

Section A will have:
e 1015 multiple-choice questions requiring an answer to a command phrase.

Section B will have:

o A ‘Text’' (ashort case study). i
e A number of short, medium and longer-answer g L yns requiring answers:
Identify, State, Calculate, Complete, Explay, . M:/ Recommend, Discuss at

% 1N
- -

wigc @ or 60 minutes and all questions must by

The duration of each topic *as

wa
-
e

0

Read th g #.tion thoroughly and highlight its command word and any spec

e  Carefully read the case study (Text stimulus material) and highlight business |
scenarios it contains.

e  Carefully read the question to get a clear understanding of what it is asking ¥
asked — be specific and do not waffle!

e  Mentally (think about) and/or physically {(make bullet points on a spare shee!
reference to the question’s command word, assessment objective(s) and the

e Always answer the guestions using appropriate business vocabulary.

e  Always apply your business knowledge by giving a relevant contextual exam_
appropriate reference to relevant material in the stimulus case study scenai|

e If the answer requires calculations to be made, you must show all your work
answer stands out clearly and distinctly.

e  Use a black ink pen to write your answer.

e Ifrequired to draw a diagram, graph or chart, use.o ¢ ht edge then carefl
constituent parts in black. A rough outling st a*u‘if*j wrst practused onasep:

e Do not write or doodle in the m=5ii5s .y uranswer page.

e  Your handwriting and anuEx *“’”pﬂgwmé{tion must be clear, logical and legible.
present, the ex3na Yf) ‘“pe able to read and understand. You will do you

‘e, a-time trying to decipher your answer.

athematlcal formulae required by the examination specificail

® Avoid any repetlthﬂ in your answer, including not repeating the question its.

o Do not leave any multiple-choice question unanswered —even if it is a wild §

Common mistakes made when answering a question

e Anincorrectly structured answer that does not correctly correspond to the ¢
assessment objective(s) being assessed.

Writing too much for a short-answer question worth 1-2 marks.

Writing too little for a medium-to-long-answer question worth 3-9 marks.
Not applying the answer to the question or the Text (case study) stimulus m.
Not knowing formulae needed for calculation questions.

Not completing the entire question in the allotted time,

Not reading the question properly and conser‘"c i sﬁS :Jering a question yu
the one that has actually been askedi ““““ J &

Not writing in clear, properly ziuis irﬁ o, inked sentences to form a meani
e Not having a clear bra: l;f *“ll'f ‘7#tvone paragraph and another.

o  Not givican-o Q!\"’M&shf specific answer to a question that requires such.

Important nS&#5n suggested content for answers
Please note that there may be correct answers other than those provided. Conseq
teacher/examiner to decide whether any alternative answers given are worthy o} |
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Feedback sheet

Question: AO1la AO1b AO2 AO3a
Marks allocated
Your mark awarded g
V)
- - - -
Answer ref. . «m{ 2
(line/paragraph/page) cdm v entwell
paragrapn/pag - mf;: !
N -
S
G
|
70 4.
N o b T .
" ff’ wg““j
217
‘\!\.J”" :
/
a &
|
e |
ol 4
i »‘.9. . »ﬁi il i
i ¥ 1 ; N\N"
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| Test 1: Business activity (1.1.1-1.1%/

Section A

10.

Which one of the following must have the trait of being a risk-taker?
L A Anaccountant - 5 An entrepreneu

L B Ashop-floor worker o /;.jji“f A store manage
, (Lt

#hasic role of any business enterprise?
L A To provide goods and/or services ¢ Tohelpitslocal
1 B To provide jobs for people D Topaytaxtoth

Which one of the following statements is true?

L A Business uncertainty can be statistically calculated

Ll B Business risk and business uncertainty are the same

J € The probability of a business risk cannot be statistically calculated
Ll D The probability of a business risk can be statistically calculated

In the world of business activity, which of these statements is false?
Ll A Entrepreneurs are risk-takers
Ll B Profit maximisation might not be the only aim of an entrepreneur

W € Entrepreneurs are not risk-takers 7 *
0 D Entrepreneurs do not need a univars fy ¢ ‘fj%e to start a business
» i
A business plan is a verv 12 Gl'a m,&uﬁé‘nt for a business to have, but what v
QA Beused:nr "o et a”Tj € Helpreduce buy

4B

'*«m i ,m“ajnmal success (J D Beusedtohelp.

What would be the most likely reason for a business not drawing up a busmt:
LI A None of its competitors had drawn up a business plan
L1 B Itlacked the skilled personnel that could draw one up
LJ € Itwas reacting to a sudden and unexpected gap that arose in its marE
L1 D Itlacked the finance to draw one up

e

e

As the business environment is very dynamic, a business should:
L A Not prepare for a changing business environment

(U B lIgnore changes in its current environment and rigidly stick to the bus
[d € Not construct a business plan .
d D Have aflexible and changeable business plan that responds to and re

e

business environment o N
s LFT & .
-y .
A new small business start-up is m*fi. S 0 1iave which legal business struc}
L A Public limited cormay Ay (d € Partnership %
LB Private limti 4 ,w “"’Mm{fﬁ (1 D Soletrader %
3 '», b .
L /
, ; -
Which a0 most likely to have accounted for the growth in the numberg
late nineteenth century? %
d A Passing of the Partnership Act L € Introduction 03‘%
[J B Revelation of the first postage stamp L D Drafting of the %
L
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11. Which one of these formal business legal structures is your local corner shop
W A Cherity € Private limited &
Ll B Soletrader (4 D Publiclimited co

12. What type of business legal structure is created when two or more people ju
view to making profit?

O A Limited company L f Social enterprise
QO B Soletrader P j}jb‘” Partnership
PR
13. A multinational conglomer3'zi v v.kely to be a:
QA Publiclimitecn o Sy’ - O € Registered char
1B g °c saurship (1 D Soletrader
14. One adv®itage that a shareholder in a limited company has over the owner

sole trader is:

L1 A All shareholders in a limited company are guaranteed a return onth.
L1 B All shareholders in a limited company are exempt from paying taxati
L1 € The shareholder in a limited company is protected by limited liability
L D The shareholder in a limited company will never lose their initial inve

15. Who is most likely to share liabilities and losses in a prearranged way?

[J B All partners in a partnership
[d € All shareholders in a private company

|

Veoi® )0
e | \"”’gection B
et

T ah\ &

2 .

ald touhay “tiie birth
i\ c . cen friends for many years. One day, during their very frequ
house, Mary v.é_*‘f“*ﬁ“ * up with what she considered to be a good business idea. Her it
table mats woven from specially treated straw. May was not too interested as shi
possessed the ideal characteristics to be an entrepreneur.

Mary, however, went ahead with her idea and over the next few months drew up
finance, supplies, equipment, etc. She knew there would be risk, but also reward:
end of the year, she set up her small sole trader business, calling it *From field to {
allowed Mary to keep all profits and make all business decisions herself. Howevet
total sole responsibility for all aspects of the business, including its debts.

Mary and May'’s coffee mornings continued. One day May asked Mary if she coul
but only on the grounds that they form a private limited comnany. They were adi
would offer them the protection of limited liability as .2 s he ability to raise at
shares privately. However, its downside wol¢ be PEH:;,*“M@and money it would te
administration involved. Mary agrg;"ﬁ E ﬁ‘d;.wx,w;« atter ‘From field to table Itd." wa

e s W
B i s
A Aan

A1 susiness.
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17. State two characteristics of an entrepreneur.
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21. Explain any two main section headings a business plan is likely to have.
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24. Discuss, with reference to Text 1, the implications of Mary being a sole trad.
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| Test 1: Business activity (1.1.1-1.1%/

Section A B
1. Which one of the following must have the trait of being a risk-taker? ///
A An accountant §1 entrepreneur L ///
Ui
B A shop-floor worker Y o //i A"Store manager ////////////
3 ') - . :J ““ . %
2. Whenagapappearsina ma et ) st usually filled by? s
. P i . b
A Business activity o 3 e C Supplier apathy % . %
' T A D Trade unions 7N\
%,
3 ¢ pasic role of any business enterprise? 4
A To provide goods and/or services C To helpits local com: WW/%
[
B To provide jobs for people D To pay tax to the Inly s

\\
.

i,
T

o

4. Which one of the following statements is true?
A Business uncertainty can be statistically calculated //f////
B Business risk and business uncertainty are the same ”7/
C The probability of a business risk cannot be statistically calculated /
D The probability of a business risk can be statistically calculated

5. Inthe world of business activity, which of these statements is false?
A Entrepreneurs are risk-takers

\\\\\\\\\\\\\\\\\\\\

-

//

B Profit maximisation might not be the only aim of an entrepreneur //// //’4
C Entrepreneurs are not risk-takers s N % //é
D Entrepreneurs do not need a universit; d g‘:; :j s’tart a business S
///////////////////////////é
6. A business plan is a verv 1o Gl m,&uﬁé‘nt for a business to have, but what v -
M
A Be used to heled 0 »’éa,,@@a C Help reduce busines: s ///
B Gu f: | ;.dafsuccess D Be used to help attri
7. What wouTE:l be the most likely reason for a business not drawing up a busing
A None of its competitors had drawn up a business plan .
. ]
B It lacked the skilled personnel that could draw one up %
C It was reacting to a sudden and unexpected gap that arose in its market
D It lacked the finance to draw one up
L
8. Asthe business environment is very dynamic, a business should: ///
A Not prepare for a changing business environment
B Ignore changes in its current environment and rigidly stick to the business COPYRIGHT
C Not construct a business plan PROTECTED
L
D Have a flexible and changeable business plan that responds to and reflect OTEC
business environment o N
s LFT & .
-y .
9. A new small business start-up is rm‘rfn 2 0 1éve which legal business struct
- 1 “ %
A Public limited company, 7 C Partnership % M
g . 19
B Private Inmnted ol e D Sole trader |
10. Which (S most likely to have accounted for the growth in the ﬂumber§ Ed .
late ningteenth century? % | ucation
A Passing of the Partnership Act C Introduction of i|m|t§
B Revelation of the first postage stamp D Drafting of the Ele
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11. Which one of these formal business legal structures is your local corner shop

A Charity C Private limited comp.
B Sole trader D Public limited compa
oo
12. What type of business legal structure is created when two or more people ju /
view to making profit? W
A Limited company Z%bcial enterprise z///
g 1 _ N
B Sole trader - ¥ A Pdrtnership S———
, 3 L
. . 8 %z//
13. A multinational conglomez}*‘gﬁ ( 3_,,,wd§<é§y to be a: e
. N - e . . = 3 |
A Public limited coee iy 7 C Registered charity e
B Limgear \  «u " D Sole trader 277N
L ()
L Y
14. One adv®itage that a shareholder in a limited company has over the owner ® //
i
sole trader is: Wmm/%
A All shareholders in a limited company are guaranteed a return on their st s
B All shareholders in a limited company are exempt from paying taxation ////”
C The shareholder in a limited company is protected by limited liability | //
D The shareholder in a limited company will never lose their initial investm: S
7///%'
15. Who is most likely to share liabilities and losses in a prearranged way? //JJM
A All shareholders in a public limited company
B All partners in a partnership 7N
. . |
C All shareholders in a private company % //%
D All stakeholders in a limited company A R4
/////////%
o fj} Sl -
= ]
. 1 % |
s\ o
T s
L . #
@956 " 4 W/////
M,.,J
L
L
PROTECTED
e ¢
o & j o

g

o
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Section B

Text 1: From field to table — the birth

Mary and May have been friends for many years. One day, during their very frequ
house, Mary came up with what she considered to be a good business idea. Her i¢
table mats woven from specially treated straw. May was not foo interested as sh
possessed the ideal characteristics to be an entreprens:v

ol % 00
Mary, however, went ahead with her i“eac: Myer“ﬁ;e next few months drew up
finance, supplies, equipment. - Sh Q et there would be risk, but also rewarc:
end of the year. she eat/ 7t :Qafi”jsole trader business, calling it ‘From field to |
. \ec zgn;pf'éﬁts and make all business decisions herself. Howevet
@ oility for all aspects of the business, including its debts.

Mary and May'’s coffee mornings continued. One day May asked Mary if she coul
but only on the grounds that they form a private limited company. They were ac\
would offer them the protection of limited liability as well as the ability to raise at
shares privately. However, its downside would be the time and money it would t¢
administration involved. Mary agreed, and soon after ‘From field to table Itd.’ wa

16. State one purpose of a business.
17. State two characteristics of an entrepreneur.

18. Identify two rewards a successful business owner might enjoy.
]

19. Explain two risks the sole owner of a small nrf,k,.&? iiivfss §tart~up might face.

=~ .
20. Explain two purposes of a %3’}“:"“ s ;'ﬁ;js.w -
(i ““t; "‘;;'mﬁ -
jw( . . v ection headings a business plan is likely to have.

e ¥

21. Explain

22. Explain ‘@ ain features of any three types of business ownership.
23. Analyse two disadvantages to Mary and May of drawing up a business plan.

24. Discuss, with reference to Text 1, the implications of Mary being a sole trade

25. Evaluate, with reference to Text 1, whether Mary and May should form a pr.
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Preview of Questions Ends Here

This is a limited inspection copy. Sample of questions ends here to avoid students previewing
questions before they are set. See contents page for details of the rest of the resource.



Answers

Test 1: Business activity (1.1.1-1.1.3)
Section A
1. C [l | s B [ f11 B |, [l
2, A 117 C [}12 Jotoy [
3. A [1] | 8. D RFET o W L [1]
. D [ | o. N Al [1]
5. C . 27 (s B [1]
e W’M
s
Section B
16. e
® To supply services
17. e Self-assurance
® Risk-taker
® Creativity
® Determination
18. = Monetary, in the form of profit, cash reward, etc.
® Non-monetary, such as a sense of personal satisfaction, kudos, etc.

19. Points to consider:

20. Points

Being ‘swamped’ by competitors
Cash flow shortages

‘Burnout’ through mental/physical stress |
e .
W
to consider: (;j s
Minimise risk 210 1\
oAl i

Budget / plan ahead. [ L
Get a hank |(:'~-1; - *’ f L
' ;y.@ag’é investors

21. Points to'CO nsier:

22. e

Nature and purpose of the business

Business legal structure .
Aims and objectives .
Physical location

Areas covering marketing, finance, resource sourcing, human resources and po.
L
Sole trader — one owner, no limited liability, owner has total responsibility for ¢
profits but bears all losses. Mostly ‘corner shops’, fish and chip shop, general g
shop, etc.
Partnership — two or more owners, shared responsibilities, shared profits and
limited liability, provision for a deed of partnership. Usually founded by farmei:
agents, etc. & f’
Private limited company (itd) — must have 7 & oy shareholder, enjoys Iin}}/;
to the general public, is an entitv i72is  muuspopular type of business in the |
large entities, e.g. lceland s i"aﬁj:;yé\,\érfi
Public limited cozj - ﬁyﬂ;ﬁ,ﬁ»'ﬁiﬁst have at least two shareholders, enjoys li
the commrai. %f;@ﬁ.ém”é?‘wtity in itself. They are medium-to-large business op
in nam e.g. British Petroleum, Tesco, Lloyds TSB.

=

L
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23.

24.

25.

A business plan is a written, reviewable and ‘liquid’ document usually drawn up pric.
the course of direction the business intends to take over the years, thereby helping |
plays a very useful part in helping it strive for success.

Disadvantages to Mary and May of drawing up a business plan may include:
® It takes time to draw up a business plan, during which Mary and May’s unique |
e It would be a good idea for Mary and May to seek profeszional advice when di
are homemakers and not ‘clued-up’ entreprenerf it ssional advice is not o
. . . . A i " .
® Time is the enemy of a business plan ins:fa  as u,mjedlctaons might not be rea
business environment coupled wivro 5 klenature of people. Maybe even the
material source. ol &
2 s e
3

L ld e her own boss and therefore would be making her own decision:

® Mary would be able to implement her ideas about how the business is run.

On the downside:

® Mary would have unlimited liability and so have sole responsibility for all ‘From 1
it incurs.

® Operating as a sole trader, expansion possibilities for Mary’s business are limit.
finance is concerned.

® Mary has the burden of making all important business decisions herself and ha.
or even blame if she makes bad decisions. This could put a strain on her menta

Mary and May should form a private limited company because:

e  They will both have the protection of limited liability and so not lose their perst
‘From field to table ltd.” fails. ;

® ‘From field to table ltd.” will have continuity of ex‘"*g F 5’ a legal entity as its.

and May. . o fji -
e If Mary and May wanted to expan ¢ . uswiss in the future, as its own legal
substantial amount of cig'ﬁ.ﬁ 5y lf,,;éﬂ‘i/a'te issue of shares, e.g. to family and |
e e ™

On the Clg@hai’ © = jund May could find that:

® Pig %)ax 'mp@s'higs take time to set up, and cost money to do so.

® Cei w‘ #strictions apply to private companies so Mary and May would proba:
and that does not come cheap.
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Preview of Answers Ends Here

This is a limited inspection copy. Sample of answers ends here to stop students looking up answers to
their assessments. See contents page for details of the rest of the resource.



